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whare Q(2) s a polynomial ef degree n-).

2. let ¢ be a complex number that s not real
let @& be oan entire function St. f(z2+) = T@).

and F(z+e) = f2).
Prove that T is constant.

3. let n be a positive even Trteger. € be the untt Civcle.
@ Using Cauchy integral formula, calculate

1
ji (2 - Jz')n %2— <: 220 (_g_) (—')l)
'( :
‘\\U;L‘?\)o,\ Ba (,us\‘na the substrtution 2z — e'e tn the

’Up\( Evrw_gra,l above ,  evaluate

f.,nsfn”e ag (= ‘z% (Jﬁt))



Review
THM  ( Cauchy'c wequality )
Suppose @ & holomorphic inside anol on  Ce= Ciz-z\= Rl

n n! A
let Me = g'acﬁlﬂz)l’ then | 9@\ £ = | n=r3.--
€

THM ( Liouville's THM )
1f £ s entire and bdd in €. then £ Ts constort.

THM  ( Mosimwnm  meolulus  principle . absolute  vexsion)
If £ 18 non-constant ond holomorPth on 1.
then 1f@1 hay no global mox. value tnske D,
1e. there's no interior Z st

| f@1 ¢ If&@)I VzeD.
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